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Criid : 3 wewfl ] [ Quwrgs wHuGueTser : 150
Time Allowed : 3 Hours ] [ Maximum Marks : 150
afaenr: (1) Soasg darsseEpd sflurs Lfeurdl o drergT ETETLIS M E

sflurisgé Qerarareyb. &&lLS el @opwil@mlle D®Dné
samsrafiurerfi_ib 2 L angwrssd Qsfellssalb.

@) Beb S sy ewullmen L HCwW ergleusHGL LweaL(hSS
Ceua(BLd. UL EISET cuenyaugn@ Guensle LweTU(HSSeLD.

@) Cseeuwrar GLiHd cuemrULID HMID FLTUT(HSEETS S(HS-

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

GOy
Note

fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and pencil to draw diagrams.

(3) Draw diagrams and write equations wherever necessary.
u@d -1/ PART -1

Simensgl famss@Ens@n efeLwafl : 50x1=50
Answer all the questions :

A. sflwrer elevLews CoTHEOASHES 6T(LSHIS -

Choose and write the correct answers :

1.

sriCurens sdesdar Gflens wrhledl (pKa) :

(=) 6.1 (3474 (&) 6.9 (rr) 8.1
The pKa value of carbonic acid is :

(@) 6.1 by 71 (£) " 69 (d) 8.1
Biro Quorenss enlienL o (HeumdElweur :

(1) @ururl_ge (<) sTTL6n Wwhmid Sye e
(@) fmsr wHmD HléEsaser (FF) eeuL_eom

Fluid mosaic model was proposed by :

(a) Robertson (b) Gorten and Grendel

(c) Singer and Nicolson (d) Overton
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3.  SpSsETLoUDDIET (T8 SMEMUSSTY) SIESLULTS CBTS?

(=) gfl&em (<=4,) eaGomigMi&ler
(@) Quiiflen () @erevGLevser
Which one is not a pancreatic enzyme ?
(a) trypsin (b) chymotrypsin
(c) pepsin (d) elastases
4. Quufler Gsemd Qewodpear Qsrar _srs LIHOULGEDS :
(1) ST GIRTLG (LPEPMHWITED (<34,) Cyeflen ,
(@) HC (FF) HCl opmib Seor Gewrl_ed (LPEnHUITeD
Pepsin is activated by :
(a) auto catalytically (b) renin
(€)» nHA (d) HCI and auto catalytically
5. HMP eganl auflpperpuie 2 meurssiu@ib (pésélwnrer @Hi&sw
<2 DOD :
(<) NADH (=1,) NADPH
(8) FAD () FADH,
The important reducing power produced in HMP shunt pathway is
(a) NADH (b) NADPH
() FAD (d) FADH,
6. sl Cur@ib 2 uifamsafie <oy sTIGuTenanCri(Hseflen
WPEEW epevLd.
(=) SlefiQarmed (<) yroQuwGer
(@) sioveflen () orsGLi
The major source of glucose in ruminants is :
(a) glycerol (b) propionate
(c) alanine (d) lactate

7.  &psaneupile QusdCurealgissrear Carmer ?

(=¢) GUC (=) AUG (&) CGA (rr) CGU

Which one of the following is codon for methionine ?

(@) GUC (b) AUG (¢ CGA (d) CGU
8. GPT-&@ CasmeuliL®D gGievawr srya

(<1) NADH (<) NADPH

(@) euflrsevred umevGUL () FAD

GPT requires cofactor :

(@) NADH () NADPH

(c) pyridoxal phosphate (d) FAD



10.

11.

12.

13.
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@emduamburs QaTply Sleon Gloeme.
(<=1) OCammedlé iblevid (=) NCanmadlals odled

(@) <rfGLrafls siblewd () ealuls Sjbleoid
is not an essential fatty acid.

(a) Linoleic acid (b) Linolenic acid

(c) Arachidonic acid (d) Oleic acid

sroflwbd wHpgb urdvCul eeiélag WIHDS®S sLHUu®SsID
anrirGme :

(1) umgm epgymii(h (=},) @ enaadle

(@) GEpsssTa (rF) Qasfligem

The hormone that regulates calcium and phosphate metabolism in vertebrates is :
(a) parathyroid hormone (b) insulin

(c) glucagon (d) secretin

QusHe QsTq wHMID LT A eured sramTLL(GaS) :

(<=1) &g RNA (=) @riordm RNA

(@) epCGarCamiodd RNA () eanigCrrilupsafiwey RNA
Methyl cap and poly A tail are present in :

(a) mRNA (b) tRNA

(¢) rRNA (d) hnRNA

Sipssam_eupdled ergl LIHHILIMLESILLIS STTLD :

(=) &CLmypréled (<=1,) Ceam QLieenL b 2iiqeneumen
(@) Cwsde Geureneen () g gg&adl enguwidles

One among the following is not a modified base :

(a) pseudo uridine (b) iso pentyl adenine

(¢) methyl guanosine (d) de oxy thymine

afGurSelwr A ergen GepUTLigemed o @ TEng) :

(1) sryewfl IX (<=4,) &myewtl VIII
(@) sryewtl X (7)) smryenfl XI
Hemophilia A is caused by the deficiency of :

(a) Factor IX (b) Factor VIII
(c) Factor X (d) Factor XI
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14. Ggré LHOHID sansaile Hplsdr QauEhss) gravriLB Cprw :

(=) S0 aflsn (=) deruCLrgrfium
(@) abGorSelum () GL-sméen Gpm
Hypopigmentation in skin and sclera is observed in :

(a) albinism (b) alkaptonuria

(c) hemophilia (d) Tay Sach’s disease

15. el CLrsTamg flureied o grer §&5GemL g mapL_7reRGanev cremu g
argan GOUILTES smaUILHEDS ?
(1) 2L gauay (=) QeueflFgeuey
(@) sauaisafien Qe QauefliLGS () Gl f&ev
Succinate dehydrogenase in mitochondria is a marker of :
(a) inner membrane (b) outer membrane

(c) inter membrane space (d) matrix

16. GrovdL_yTen GLIDTHDE sifleludcr FADH, erggeman ATP &ear <ef&ESDg!-

(1) 4 (=) 1 (8) 2 (FF) 3
When FADH, is substrate, in ETC molecules of ATP are formed.
(a)- ok (b) 1 () 2 (d) 3

17.  idsConHEer erelelems 5HSEREES TO&HEETLO
(=) Curiind SGIEDLOW| 6T 5[HSSD
(<) GUT g § SATELOWOD 5055
(@) Gurgs Spendp sO55
() Qsrd Berrs g Lmet
Alkylating agents are examples for :
(a) competitive inhibition
(b) uncompetitive inhibition
(¢) mnon competitive inhibition

(d) irreversible inhibition
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y 18, gIenL o §@ES spm) wirpred eflerdsuuTLg)?

(=) Caragarbgl (=) g&E6T
(@) Yegsm () Crelll&e
Who proposed induced fit theory ?

(a) Koshland | (b) Dixon

(c) Fischer (d) Davidson

19. or@iev Crrudéd weflg eHTLLTHDD®E G@DEGD @auTevlanTe
LrdésLu@n e gl ?

(<=1) wrevl_ g6 (=) T 2564 Gee
(@) T eflever @H&s G () B @prusE Cew
In AIDS, the cells which are affected by HIV :

(a) Mast cells (b) T helper cells

(c) T suppressor cells (d) B memory cells

20. T woHmib B @rus Cedsatiar Qaweaer wrg?
(<) eflpEEse
(=) @rarLreug Hepew eTélfiLmOOE Aenar 2iHs semeliled
grarL UG épg
(@) wse Howe edilurHpe efleneot
(FF) 2 LDH&TlL eped 2 arTalg EICENNICEAESE
What is the function of T and B memory cells ?
(a) phagocytosis
(b) secondary immune response
(c) primary immune response

(d) production of antibody is inhibited
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Camgl L @)L hisemer HIrlius :

Fill in the blanks :

21.

22

23.

24.

25

26.

27

28.

sl CLr@Qarrsb Qéorg Qriss Haulugnssafiar Caw seuea|ser
eren enpssLiui(HSlernmer.

The red blood cell membrane devoid of cytosol is called as

seanenTil enevliGLen T SMWPESLILIHSE DS

Pancreatic lipase is otherwise called as

Hemer&Camsgen 2 udir QsTESS® rana|b @WESULGEDSI.
Glycogen biosynthesis is known as

Uy er(&se (Transcription) Qprwire perL QuUDSDS.

Transcription process is catalyzed by the enzyme

RNA eprioir 2 (heurss glenan Lfleug
catalyses the synthesis of RNA primer.

< ECnahn h&Es emasmear GTEMILD DELPEHSHEOMLD.

Oxidation reduction reactions are otherwise called as

@wsECsda QuarLear Foaruriigd Qwrss GprHuier Gedeama
eran GHLUEGESHCDTD.

The total enzymes in Michaelis Menten equation is represented as

arfg&Grr LierrevGLrfled SiLmellev eramayd Blena o Lpamiy
sarsHwmed goUGE DG

Erythroblastosis fetalis is caused by antigen.
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Eflwn, Seumn eresd sams :
Write True or False :

29. @rssGsTans Crmuier @rsssder UTGHlme e WiTbI®HEEGWD.

Viscosity of blood is increased during anemia.

30. andpde Hoeayn llogsaemn CsrarL pH 4o Qarwlyser
L@GESILHSeTmaT.
Fats are hydrolysed by acidic pH in the stomach.

31. Lepsriurgadals ol spoflde 24 ATP gpossamsar
2 (Heur&sLLI(H&lemen.
24 molecules of ATP are formed in TCA cycle.

32. mRNA erdiGarrenan CQerawr(HeTeng.
Anticodon is present in mRNA.

33. SLOPs6r 2 Ladlé samsded LmsT e Callssl LSS
Lipids can be stored in the body in almost unlimited amount.

34. @Lwrpm RNA &ser suni fleoluBssuupadame.
tRNA molecules are not processed.

35. wwsriCLrgriur eramp Crruid Care Hipilser urdlasiu(H&leaper.
Alkaptonuria is associated with hypopigmentation of skin.

36. gwes Qoasaidy ATP (p&HRDN GS®DAUTS 2 agrerGuTg|
urevCurdflwm e epod ATP 2 (HeurssuLGEDS.
In muscle cell, when ATP is low the creatine phosphate is converted to ATP.

37. Qprd FOUEDL Amasg elmasaigib ES s B Clumme 2 (HeuT&lmsg).

An enzyme substrate complex is formed in all the enzymatic reactions.
38. QupuulL erditurdped dlmarsdr GHLUILLmaseTTS @ eerg)

Qurgleurs o eTerg|.

Adaptive immunity functions are non-specific.
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D. &uereTeupenmLl QUT(HSSIS :

39. waCsrlafgen (<) DNA 2 [HeurésLo

40. evzrmi® srud (=) evdiredlenes oar& & &

41. QrlefiGCasen (@) odswrar G Qu(BSSLD

42. HCuTQerrgd () spgd safsald @5IRS
(Margination) 2 6 SDg!.

43. Qprslser (2) urevCureneiGuen A,

44. @rrETwer @mé;&gjamrrsb

S (P&HsILH S (2er) EGFTEHE 6T

Match the following :

39. Lysolecithin (@) Synthesis of DNA

40. Thyroid gland (b) Biocatalysts

41. Replication (c) Tumour

42. Neoplasm (d) Helps for Margination

43. Enzymes (e) Phospholipase A,

44. Chemotaxis (f) Thyroxine

E @fin amigamzseie cflepLwia :
Give answer in one or two words :

45, Up i LTSHISERSE QT 2 FTTERTLD S(HSE-
Give one example for peripheral proteins.

46. HusefGur Lyghise \Bg) HCl-enn Qawiun(® ereman?
What is the action of HCl on nucleoproteins ?

47. urepCurelld@saiier 2 eem cuaaTL Qanéavr eam & OFADTED 6TE
Name of the cyclic hexahydric alcohol present in phospholipids.

48. DNA efp@ wi @b 2 fw sryn egl?
Name the base that is unique to DNA.

49. Qs =pevomgs CETeTamaewl o (HEUTESILIGIT WITT?
Who proposed the chemiosmotic theory ?

50. Qprd WBerrd 5HESD TEDTE GTEBTENT?

What is irreversible enzyme inhibition ?



GULERE

Note :

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

U@ - 11/ PART - II

siemauCuenid LSlenenigl elamssEréeE el wafl.

Answer any fifteen questions.

urgheeuder 2 udflud LweTUTHSET )Ty mes ).
Give two biological applications of viscosity.

QrwedlE s5.55a6G0 Urs aills sL550&EW0 et @ar®h
Ceumur(HFHemaeT 6T (Lp&Is.

Write any two differences between facilitated and active transport.

D 6T LD FAUGYLI LITSHBISHET GTGTDTE) GTEuen?

What are intrinsic membrane proteins ?

Blenmeyd Semanin TemmTed 6Teuen?

What is meant by satiety value ?

sssev cramg flaan (An@Ld Bler Qprdedr) eranpred eree?

What is success entericus ?

yresHean 88 Qrefefer Qeweour® cremean?

What is the action of Renin on proteins ?

Gaavigflar - fm GO euenTs.

Write a short note on gastrin.

Sifley Coruler Qram® p&slw eumasar wreameu?
What are the two major classes of diabetes mellitus ?

NADH wpyitb NADPH @eunilipdlen Cui 2 arer Coumur® wrg?
What is the difference between NADH and NADPH ?

8 CLrQgaflan GarT flekisaT erammmed eraman?

What are ketogenic amino acids ?

3672

15x2=30
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

10

gl () QBré erammmed 6reven?

What is an multi-enzyme complex ?

Gt e gHURBD eflevera sar creme?

What are the effects of lysolecithin ?

<2 HGrm W sNCrTedien GTETMTED GTENE?

Define atherosclerosis.

DNA - eveull upBlw srirare.l 698 (Chargaff’s Rule) euenyuimi’?
State the Chargaff’s Rule of DNA.

QruefGasa&© . g rrendlevdlflisens@n @ Cu 2 arer grGsad
@ren(h Coumur(HESmer 6T(LPSIS.

Write any two differences between replication and transcription.

CaasCLrdflur (Galactosemia) GrempIred Gremes?

What is Galactosemia ?

ATP Qe o mauamwliblenar 6T(pSis.

Write the structure of ATP.

ES &al_(Hl1 QUr@mET 2 (Heurésssie fariia] enlowid (active sites) eTeDTE
GTesTenT ?

What is active site in ES complex formation ?

eQflwiren (virion) GremmMTE) GTENEH?

What is virion ?

o Lpariy epasdar Q@ (pédlu Caimaser wrme?

What are the two main functions of antibody ?



GOy :

Note :

71.

72,

73.

74.

75.

76.

Yz

78.

79.

80.
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L@ - 111/ PART - III
9fley ‘o1 @ 2 crer edlanT eraiT 715@ SLLTWIOTSE|LD wpmib Kfley ‘e~
> draraunBer gCs@ID WH NTMESEDSHES elenL_wiafl. 6x5=30
Answer Question No. 71 in Section - A which is compulsory and any five
questions from Section - B.

19fey - =/ SECTION - A

uply @upeilens erampmed eremen? LITLIL @ pelameuder o ulflwe

LweruT(H&eT wrenel?

What is surface tension ? List the biological applications of surface tension.
Slevevgl / OR

Qecraeue wrflaar uDP GO CT(HSIS

Write a note on various models proposed for cell membrane.

19fley - 9y, / SECTION - B
Qampliy ereueumm QeflssuuBS DS

How are fats digested ?

@ ensCamen sThiGD Corgmar LD eTPSIS.
Write a short note on GTT.

sallgCanpp SfCGeam fésn LD An GO eums.

Give a short note on oxidative deamination.

Q@ sefen Lwensmar eilaTé@s.
List the biological functions of lipids.

Qsraeigyrad 2 ulis Asreldman elarésEs.

Briefly discuss about cholesterol biosynthesis.

LHDCHTL QEws@ErsE odtar (P&l LIeRLSmaT er(psls.
What are the characteristic features of cancer cells ?

Qs pevwrys Cararensamw cllalfl?
Describe chemiosmotic theory.

GL sréen CrTUeT STFeRThISET HHID SN GDISEDET Fnmis.
Give the cause and symptoms of Tay Sach’s Disease.

o |parii sasdufan Hpomer Sifafls@0 STTeRilGET Wrenel?
Name the factors effecting the antigenicity of an antigen.
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u@S - IV / PART - IV

L.

GOl : G Bren@ elaTésEndE efen werfl. 4x10=40

Note : Answer any four of the following questions.

81. TCA spnflie FHUEL Ugsemer ailaufl.
Describe the steps involved in TCA cycle.

82. esCrradlafedmbg erilGeaniiflen o (Heureueans ellaTé(Es.
Explain the formation of epinephrine from Thyrosine.

83. RNA o (peungsid (igrrevdlfiiser) (LgCQuBSse) und elarsEs.

Give an account on RNA biosynthesis.
84. ewl GLrasrargflureler QeaicuCoaumy LEGSHL Qur@eraaiies 2 erer
saflgseneno eumiips Gprdamer GOILIGHS.

Mention the specific enzyme that marks the different components of mitochondria.

85. CGuriiysd searemwuerer 5HSSMme 6laTsHEs.
Explain the concept of competitive inhibition.

86. Olga afpmEge LMW LT smer efleufl.

Write a note on function of phagocytosis.
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